
 

 

y =  3x + 2 
 

 

 

 

As x increases, y 
increases at a  
constant rate. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑦 = 3𝑥2 − 5 

 
y 

 

77 

 
 
 
 

x-intercepts @ 

 x = ±√
5

3
 

 

𝑦 = (𝑥 + 2)2(𝑥)2 + 2 
 

 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 
 
 
 

quartic function 
with all imaginary 

zeros 
 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

A quartic functio n with imag inary zeros .  

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

D ! 2 

E ; 7 

F ~ 3 n 

j 
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𝑦 = −2(𝑥 + 2)3 − 5 
 

 

 

 

 
 

 

 
 
 
 
 

smallest y-value @ 
 x = 5 

 

 

𝑦 = −2(. 5)𝑥 + 2 
 

 

 
 
 
 
 
 

exponential 
function with the 

 y-intercept @  
y = 0 

 

 

𝑦 = √𝑥 + 4 

 
 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 
 
 
 
 
 

𝑥𝜖ℝ ≥ −4 
 

A ? 9 

B ^ 10 

C # 11 g 

h 
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𝑦 =
1

𝑥 + 2
+ 1.5 

 

 

 
 
 
 
 
 

does not exist @  
x = -2 

 

 

𝑦 = 3 sin(𝑥) − 5 

 

 

 
 
 
 

 
 

Range: [−1,1] 
 

 

𝑦 = −2𝑥(𝑥 + 2)  
y

 

 
 
 
 

quadratic function 
that has the same 
 y-intercept value  

as one of the 
 x-intercept  

values 

G 8 

H 12 

I @ 6 d 

e 

+ 

& 
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𝑦 = 𝑥4 − 5 

 

 
 
 
 
 
 
 

quartic function  
with one minimum 

 

 

𝑦 = (2)𝑥 + 2 

 

 
 
 
 
 
 

As x increases, y 
increases at an 
increasing rate. 

 

 

𝑦 =
−2

𝑥
 

 

 
 
 
 
 
 

does not exist @  
x = 0 

 

 

J * 5 

K % 4 

L $ 1 
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a 
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